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Race to the Tree — Multiplication,
Division and Squaring Version

Race your character against a partner to reach the Christmas
tree (120) first. Roll the 10-sided dice to start.

If you land on a > , you can multiply your current position
by the number you rolled. For example, if you are on 2|
(which has a candycane on it), then you rolled 3, you can do 3
x 21 =63 (go to 63). However, you cannot perform the
multiplication if it would be over 120 and take you off the
board.
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If you land on a Lo , You need to divide your current position
by whatever you rolled. For example, if you land on 72 and
rolled 9, then 72 +9 = 8. You go back to 8!
However, if your current position (running total) is not
divisible, you do not have to divide or go backwards at all. You
only move backwards if the number you are on is divisible by

the number you rolled on the dice for that turn.

If you land on a i%, at the start of your next turn, you can
square the number you roll, before you add it to your current
position. For example, you are on 46 before you roll (46 has a
present on it), then you roll a 5. You can square 5, making it 5
x 5 = 25, then add 46 and 25 to get to 7 |. However, if this
would take you over 120, you cannot do it.
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If youland ona - |, you freeze and miss a turn, so your
partner gets two rolls in a row.
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